

Hybrid Gaussian Mersenne and Gaussian Mersenne - Lucas Sequences

¹B. MALINI DEVI and ²S. DEVIBALA

¹Research Scholar (Part Time), School of Mathematics, Madurai Kamaraj University, Madurai – 625 021, Tamil Nadu, India. Email: bmalini22.mdu@gmail.com

²Department of Mathematics, Sri Meenakshi Government Arts College for Women (A), Madurai – 625 002, Tamil Nadu, India. Email: devibala27@yahoo.com

ABSTRACT

In this communication, we define Hybrid Gaussian Mersenne and Hybrid Gaussian Mersenne-Lucas sequences and also, we give some relations among them. Moreover, we verify some well-known identities like Catalan, Cassini, d'Ocagne and Honsberger for Hybrid Gaussian Mersenne and Mersenne-Lucas sequences.

Keywords Mersenne sequence, Mersenne-Lucas sequence, Hybrid numbers

2020 Mathematics Subject Classification 11B99

Introduction

In Number theory, recollect that a Mersenne number of order n , denoted by M_n , and it is a number of the form $2^n - 1$, where n is a positive integer. Some studies about Mersenne sequence have been worked in [3, 8] and Mersenne-Lucas sequence in [4, 5].

We observe that some Mersenne numbers are prime and search for Mersenne primes in an active field of Number theory, Computer science and Coding theory. We note that if M_n is prime then n is prime and the converse is not true. Some special sequences and its Gaussian form were studied in [1, 2, 7].

In this paper, we associate the hybrid number introduced by [6] with Mersenne and Mersenne-Lucas sequences. Also, given some relations among them. Some well-known identities also verified through Binet's formula.

The Mersenne sequence $\{M_n\}$ are defined by the recurrence relation

$$M_n = 3M_{n-1} - 2M_{n-2}, \quad n \geq 2, \text{ where } M_0 = 0, M_1 = 1.$$

The Mersenne- Lucas sequence $\{ML_n\}$ are defined recurrently by

$$ML_n = 3ML_{n-1} - 2ML_{n-2}, \quad n \geq 2, \text{ where } ML_0 = 2, ML_1 = 3.$$

The Binet's formula for Mersenne and Mersenne-Lucas sequences are given by

$$M_n = 2^n - 1 \text{ and } ML_n = 2^n + 1.$$

Gaussian Mersenne and Gaussian Mersenne-Lucas Sequences

The Gaussian Mersenne sequence GM_n is defined by the recurrence relation

$$GM_{n+1} = 3GM_n - 2GM_{n-1}, \quad n \geq 1$$

with initial conditions $GM_0 = -\frac{1}{2}i$ and $GM_1 = 1$.

Also, $GM_n = M_n + iM_{n-1}$, where M_n is the n th Mersenne sequence.

The Gaussian Mersenne-Lucas sequence GML_n is defined by the recurrence relation

$$GML_{n+1} = 3GML_n - 2GML_{n-1}, \quad n \geq 1$$

with initial conditions $GML_0 = 2 + \frac{3}{2}i$ and $GML_1 = 3 + 2i$.

And $GML_n = ML_n + iML_{n-1}$, where ML_n is the n th Mersenne-Lucas sequence.

Theorem 1

The Binet formula for the Gaussian Mersenne sequence and the Gaussian Mersenne-Lucas sequence are

$$GM_n = 2^{n-1}a - b \text{ and } GML_n = 2^{n-1}a + b$$

where $a = (2 + i)$, $b = (1 + i)$.

Proof

$$\begin{aligned} GM_n &= M_n + iM_{n-1} \\ &= (2^n - 1) + i(2^{n-1} - 1) \\ &= (2^n + i2^{n-1}) - (1 + i) \\ &= 2^{n-1}(2 + i) - (1 + i) \\ &= 2^{n-1}a - b, \text{ where } a = (2 + i), b = (1 + i). \end{aligned}$$

$$\begin{aligned} GML_n &= ML_n + iML_{n-1} \\ &= (2^n + 1) + i(2^{n-1} + 1) \\ &= (2^n + i2^{n-1}) + (1 + i) \\ &= 2^{n-1}(2 + i) + (1 + i) \\ &= 2^{n-1}a + b, \text{ where } a = (2 + i), b = (1 + i). \end{aligned}$$

Theorem 2

The generating function for the Gaussian Mersenne sequence and the Gaussian Mersenne-Lucas sequence are

$$f(t) = \frac{2t + (3t - 1)i}{4t^2 - 6t + 2}$$

and

$$g(t) = \frac{4 - 6t + (3 - 5t)i}{4t^2 - 6t + 2}$$

Proof

Let $f(t) = \sum_{n=0}^{\infty} GM_n t^n$

Multiplying this equation by $1, -3t, 2t^2$ respectively and summing these equations, we obtain

$$\begin{aligned} (1 - 3t + 2t^2)f(t) &= GM_0 + (GM_1 - 3GM_0)t + (GM_2 - 3GM_1 + 2GM_0)t^2 + \dots + (GM_n - 3GM_{n-1} + 2GM_{n-2})t^n \\ &= GM_0 + (GM_1 - 3GM_0)t \end{aligned}$$

$$\begin{aligned} f(t) &= \frac{GM_0 + (GM_1 - 3GM_0)t}{1 - 3t + 2t^2} \\ &= \frac{-\frac{1}{2}i + (1 + \frac{3}{2}i)t}{1 - 3t + 2t^2} \\ &= \frac{2t + (3t - 1)i}{4t^2 - 6t + 2} \end{aligned}$$

Similarly, let $g(t) = \sum_{n=0}^{\infty} GML_n t^n$

Multiplying this equation by $1, -3t, 2t^2$ respectively and summing these equations, we obtain

$$\begin{aligned} (1 - 3t + 2t^2)g(t) &= GML_0 + (GML_1 - 3GML_0)t + (GML_2 - 3GML_1 + 2GML_0)t^2 + \dots \\ &\quad + (GML_n - 3GML_{n-1} + 2GML_{n-2})t^n \\ &= GML_0 + (GML_1 - 3GML_0)t \end{aligned}$$

$$g(t) = \frac{GML_0 + (GML_1 - 3GML_0)t}{1 - 3t + 2t^2}$$

$$= \frac{(2+\frac{3}{2}i) + [3+2i-3(2+\frac{3}{2}i)]t}{1-3t+2t^2}$$

$$= \frac{4-6t+(3-5t)i}{4t^2-6t+2}$$

Theorem 3 (Catalan's Identity for Gaussian Mersenne and Gaussian Mersenne-Lucas sequences)

For any nonzero positive integers n, k we have

$$GM_{n+k}GM_{n-k} - GM_n^2 = 2^n a \ell (1 - 2^{-(k+1)} ML_{2k})$$

$$GML_{n+k}GML_{n-k} - GML_n^2 = 2^n a \ell (2^{-(k+1)} ML_{2k} - 1)$$

Proof

$$GM_{n+k}GM_{n-k} - GM_n^2 = (2^{n+k-1}a - \ell)(2^{n-k-1}a - \ell) - (2^{n-1}a - \ell)^2$$

$$= 2^n a \ell [1 - 2^{-(k+1)} - 2^{k-1}]$$

$$= 2^n a \ell [1 - 2^{-(k+1)}(1 + 2^{2k})]$$

$$= 2^n a \ell [1 - 2^{-(k+1)} ML_{2k}]$$

$$GML_{n+k}GML_{n-k} - GML_n^2 = (2^{n+k-1}a + \ell)(2^{n-k-1}a + \ell) - (2^{n-1}a + \ell)^2$$

$$= 2^n a \ell [2^{-(k+1)} + 2^{k-1} - 1]$$

$$= 2^n a \ell [2^{-(k+1)}(1 + 2^{2k}) - 1]$$

$$= 2^n a \ell [2^{-(k+1)} ML_{2k} - 1]$$

Theorem 4 (Cassini's Identity for Gaussian Mersenne and Gaussian Mersenne-Lucas sequences)

Let $n \geq 1$. Then we have

$$GM_{n+1}GM_{n-1} - GM_n^2 = -2^{n-2} a \ell$$

$$GML_{n+1}GML_{n-1} - GML_n^2 = 2^{n-2} a \ell$$

Theorem 5 (d'Ocagne's Identity for Gaussian Mersenne and Gaussian Mersenne-Lucas sequences)

For all $m, n \in \mathbb{Z}$ we have

$$GM_m GM_{n+1} - GM_{m+1} GM_n = -2^{m-1} a \ell M_{n-m}$$

$$GML_m GML_{n+1} - GML_{m+1} GML_n = 2^{m-1} a \ell M_{n-m}$$

Proof

$$GM_m GM_{n+1} - GM_{m+1} GM_n = (2^{m-1}a - \ell)(2^n a - \ell) - (2^m a - \ell)(2^{n-1}a - \ell)$$

$$= 2^{n-1} a \ell (1 - 2) - 2^{m-1} a \ell (1 - 2)$$

$$= 2^{m-1} a \ell (1 - 2^{n-m})$$

$$= -2^{m-1} a \ell M_{n-m}$$

$$GML_m GML_{n+1} - GML_{m+1} GML_n = (2^{m-1}a + \ell)(2^n a + \ell) - (2^m a + \ell)(2^{n-1}a + \ell)$$

$$= -2^{n-1} a \ell (1 - 2) + 2^{m-1} a \ell (1 - 2)$$

$$= 2^{m-1} a \ell (2^{n-m} - 1)$$

$$= 2^{m-1} a \ell M_{n-m}$$

Theorem 6

For $n \geq 1$, we have

$$GM_n^2 + GM_{n+1}^2 = 2^{2n-2}a^2ML_2 + 2b^2 - 2^na b ML_1$$

$$GML_n^2 + GML_{n+1}^2 = 2^{2n-2}a^2ML_2 + 2b^2 + 2^na b ML_1$$

Proof

$$GM_n^2 + GM_{n+1}^2 = (2^{n-1}a - b)^2 + (2^na - b)^2$$

$$= 2^{2n-2}a^2 - 2^na b + b^2 + 2^{2n}a^2 + b^2 - 2^{n+1}a b$$

$$= 2^{2n-2}a^2(2^2 + 1) + 2b^2 - 2^na b(1 + 2)$$

$$= 2^{2n-2}a^2ML_2 + 2b^2 - 2^na b ML_1$$

$$GML_n^2 + GML_{n+1}^2 = (2^{n-1}a + b)^2 + (2^na + b)^2$$

$$= 2^{2n-2}a^2 + 2^na b + b^2 + 2^{2n}a^2 + b^2 + 2^{n+1}a b$$

$$= 2^{2n-2}a^2(2^2 + 1) + 2b^2 + 2^na b(1 + 2)$$

$$= 2^{2n-2}a^2ML_2 + 2b^2 + 2^na b ML_1$$

Theorem 7

For $n \geq 1$, we have

- i. $GM_{n+1} + GM_{n-1} = 2^{n-2}aML_2 - 2b$
- ii. $GM_{n+1} + GM_n = 2^{n-1}aML_1 - 2b$
- iii. $GML_{n+1} + GML_{n-1} = 2^{n-2}aML_2 + 2b$
- iv. $GML_{n+1} + GML_n = 2^{n-1}aML_1 + 2b$

Proof

- i. $GM_{n+1} + GM_{n-1} = (2^na - b) + (2^{n-2}a - b)$
 $= 2^{n-2}a(1 + 2^2) - 2b$
 $= 2^{n-2}aML_2 - 2b$
- ii. $GM_{n+1} + GM_n = (2^na - b) + (2^{n-1}a - b)$
 $= 2^{n-1}a(1 + 2) - 2b$
 $= 2^{n-1}aML_1 - 2b$
- iii. $GML_{n+1} + GML_{n-1} = (2^na + b) + (2^{n-2}a + b)$
 $= 2^{n-2}a(1 + 2^2) + 2b$
 $= 2^{n-2}aML_2 + 2b$
- iv. $GML_{n+1} + GML_n = (2^na + b) + (2^{n-1}a + b)$
 $= 2^{n-1}a(1 + 2) + 2b$
 $= 2^{n-1}aML_1 + 2b$

Theorem 8

For $n \geq 1$, we have

- i. $GM_n + GML_n = 2^na$
- ii. $GM_n GML_n = M_{2n} - M_{2n-2} + 2iM_{2n-1}$

Proof

$$\begin{aligned}
 \text{i. } GM_n + GML_n &= (2^{n-1}a - \mathcal{b}) + (2^{n-1}a + \mathcal{b}) \\
 &= 2^n a \\
 \text{ii. } GM_n GML_n &= (2^{n-1}a - \mathcal{b})(2^{n-1}a + \mathcal{b}) \\
 &= 2^{2n-2} a^2 - \mathcal{b}^2 \\
 &= 2^{2n-2}(3 + 4i) - 2i \\
 &= (2^{2n} - 1) - (2^{2n-2} - 1) + 2i(2^{2n-1} - 1) \\
 &= M_{2n} - M_{2n-2} + 2iM_{2n-1}
 \end{aligned}$$

Hybrid Gaussian Mersenne and Gaussian Mersenne-Lucas Sequences

The Mersenne hybrid numbers and Mersenne-Lucas hybrid numbers are defined as

$$\begin{aligned}
 MH_n &= M_n + M_{n+1}i + M_{n+2}\varepsilon + M_{n+3}h \\
 MLH_n &= ML_n + ML_{n+1}i + ML_{n+2}\varepsilon + ML_{n+3}h
 \end{aligned}$$

where i, ε, h are hybrid units, with $i^2 = -1, \varepsilon^2 = 0, h^2 = 1, ih = -hi = \varepsilon + i$.

The Gaussian Mersenne hybrid sequence and Gaussian Mersenne-Lucas hybrid sequence are defined as

$$GMH_n = GM_n + iGM_{n+1} + \varepsilon GM_{n+2} + hGM_{n+3}$$

and

$$GMLH_n = GML_n + iGML_{n+1} + \varepsilon GML_{n+2} + hGML_{n+3}$$

Theorem 9

The Binet formula for the Gaussian Mersenne hybrid sequence and Gaussian Mersenne-Lucas hybrid sequence are

$$GMH_n = 2^{n-1}\alpha^* a - \beta^* \mathcal{b} \text{ and } GMLH_n = 2^{n-1}\alpha^* a + \beta^* \mathcal{b}$$

where $\alpha^* = 1 + 2i + 2^2\varepsilon + 2^3h, \beta^* = 1 + i + \varepsilon + h, a = (2 + i), \mathcal{b} = (1 + i)$.

Proof

$$\begin{aligned}
 GMH_n &= (M_n + M_{n+1}i + M_{n+2}\varepsilon + M_{n+3}h) + i(M_{n-1} + M_n i + M_{n+1}\varepsilon + M_{n+2}h) \\
 &= (M_n + iM_{n-1}) + i(M_{n+1} + iM_n) + \varepsilon(M_{n+2} + iM_{n+1}) + h(M_{n+3} + iM_{n+2}) \\
 &= GM_n + iGM_{n+1} + \varepsilon GM_{n+2} + hGM_{n+3} \\
 &= (2^{n-1}a - \mathcal{b}) + i(2^n a - \mathcal{b}) + \varepsilon(2^{n+1}a - \mathcal{b}) + h(2^{n+2}a - \mathcal{b}) \\
 &= 2^{n-1}(1 + 2i + 2^2\varepsilon + 2^3h)a - (1 + i + \varepsilon + h)\mathcal{b} \\
 &= 2^{n-1}\alpha^* a - \beta^* \mathcal{b}
 \end{aligned}$$

$$\begin{aligned}
 GMLH_n &= (ML_n + ML_{n+1}i + ML_{n+2}\varepsilon + ML_{n+3}h) + i(ML_{n-1} + ML_n i + ML_{n+1}\varepsilon + ML_{n+2}h) \\
 &= (ML_n + iML_{n-1}) + i(ML_{n+1} + iML_n) + \varepsilon(ML_{n+2} + iML_{n+1}) + h(ML_{n+3} + iML_{n+2}) \\
 &= GML_n + iGML_{n+1} + \varepsilon GML_{n+2} + hGML_{n+3} \\
 &= (2^{n-1}a + \mathcal{b}) + i(2^n a + \mathcal{b}) + \varepsilon(2^{n+1}a + \mathcal{b}) + h(2^{n+2}a + \mathcal{b}) \\
 &= 2^{n-1}(1 + 2i + 2^2\varepsilon + 2^3h)a + (1 + i + \varepsilon + h)\mathcal{b} \\
 &= 2^{n-1}\alpha^* a + \beta^* \mathcal{b}
 \end{aligned}$$

Theorem 10

For any positive integers m, n we have

$$GMH_m GMH_n + GMH_{m+1} GMH_{n+1} = 2^{m+n-2} \alpha^2 a^2 ML_2 - 2^{n-1} \beta^* \alpha^* \ell a ML_1 - 2^{m-1} \alpha^* \beta^* a \ell ML_1 + 2\beta^{*2} \ell^2$$

Proof

$$\begin{aligned} & GMH_m GMH_n + GMH_{m+1} GMH_{n+1} \\ &= (2^{m-1} \alpha^* a - \beta^* \ell)(2^{n-1} \alpha^* a - \beta^* \ell) + (2^m \alpha^* a - \beta^* \ell)(2^n \alpha^* a - \beta^* \ell) \\ &= 2^{m+n-2} \alpha^2 a^2 - 2^{n-1} \beta^* \alpha^* \ell a - 2^{m-1} \alpha^* \beta^* a \ell + \beta^{*2} \ell^2 + 2^{m+n} \alpha^2 a^2 - 2^n \beta^* \alpha^* \ell a - 2^m \alpha^* \beta^* a \ell + \beta^{*2} \ell^2 \\ &= 2^{m+n-2} \alpha^2 a^2 (2^2 + 1) - 2^{n-1} \beta^* \alpha^* \ell a (2 + 1) - 2^{m-1} \alpha^* \beta^* a \ell (2 + 1) + 2\beta^{*2} \ell^2 \\ &= 2^{m+n-2} \alpha^2 a^2 ML_2 - 2^{n-1} \beta^* \alpha^* \ell a ML_1 - 2^{m-1} \alpha^* \beta^* a \ell ML_1 + 2\beta^{*2} \ell^2 \end{aligned}$$

Theorem 11

For any positive integer n ,

- i. $GMH_{n+1} + 2GMH_{n-1} = 3GMH_n$
- ii. $GMLH_{n+1} + 2GMLH_{n-1} = 3GMLH_n$

Proof

- i. $GMH_{n+1} + 2GMH_{n-1}$
 $= (GM_{n+1} + iGM_{n+2} + \varepsilon GM_{n+3} + hGM_{n+4}) + 2(GM_{n-1} + iGM_n + \varepsilon GM_{n+1} + hGM_{n+2})$
 $= (GM_{n+1} + 2GM_{n-1}) + i(GM_{n+2} + 2GM_n) + \varepsilon(GM_{n+3} + 2GM_{n+1}) + h(GM_{n+4} + 2GM_{n+2})$
 $= 3GM_n + i3GM_{n+1} + \varepsilon 3GM_{n+2} + h3GM_{n+3}$
 $= 3GMH_n$
- ii. $GMLH_{n+1} + 2GMLH_{n-1}$
 $= (GML_{n+1} + iGML_{n+2} + \varepsilon GML_{n+3} + hGML_{n+4}) + 2(GML_{n-1} + iGML_n + \varepsilon GML_{n+1} + hGML_{n+2})$
 $= (GML_{n+1} + 2GML_{n-1}) + i(GML_{n+2} + 2GML_n) + \varepsilon(GML_{n+3} + 2GML_{n+1}) + h(GML_{n+4} + 2GML_{n+2})$
 $= 3GML_n + i3GML_{n+1} + \varepsilon 3GML_{n+2} + h3GML_{n+3}$
 $= 3GMLH_n$

Theorem 12

For any positive integer n, m, k we have

- i. $GMH_m GMH_n - GMH_{m+k} GMH_{n-k} = 2^{m-1} \alpha^* \beta^* a \ell M_k - 2^{n-k-1} \beta^* \alpha^* \ell a M_k$
- ii. $GMLH_m GMLH_n - GMLH_{m+k} GMLH_{n-k} = 2^{n-k-1} \beta^* \alpha^* \ell a M_k - 2^{m-1} \alpha^* \beta^* a \ell M_k$

Proof

- i. $GMH_m GMH_n - GMH_{m+k} GMH_{n-k}$
 $= (2^{m-1} \alpha^* a - \beta^* \ell)(2^{n-1} \alpha^* a - \beta^* \ell) - (2^{m+k-1} \alpha^* a - \beta^* \ell)(2^{n-k-1} \alpha^* a - \beta^* \ell)$
 $= 2^{m+n-2} \alpha^2 a^2 - 2^{n-1} \beta^* \alpha^* \ell a - 2^{m-1} \alpha^* \beta^* a \ell + \beta^{*2} \ell^2 - 2^{m+n-2} \alpha^2 a^2 + 2^{n-k-1} \beta^* \alpha^* \ell a$
 $\quad + 2^{m+k-1} \alpha^* \beta^* a \ell - \beta^{*2} \ell^2$
 $= 2^{n-k-1} \beta^* \alpha^* \ell a (1 - 2^k) + 2^{m-1} \alpha^* \beta^* a \ell (2^k - 1)$
 $= 2^{m-1} \alpha^* \beta^* a \ell M_k - 2^{n-k-1} \beta^* \alpha^* \ell a M_k$
- ii. $GMLH_m GMLH_n - GMLH_{m+k} GMLH_{n-k}$
 $= (2^{m-1} \alpha^* a + \beta^* \ell)(2^{n-1} \alpha^* a + \beta^* \ell) - (2^{m+k-1} \alpha^* a + \beta^* \ell)(2^{n-k-1} \alpha^* a + \beta^* \ell)$
 $= 2^{m+n-2} \alpha^2 a^2 + 2^{n-1} \beta^* \alpha^* \ell a + 2^{m-1} \alpha^* \beta^* a \ell + \beta^{*2} \ell^2 - 2^{m+n-2} \alpha^2 a^2 - 2^{n-k-1} \beta^* \alpha^* \ell a$
 $\quad - 2^{m+k-1} \alpha^* \beta^* a \ell - \beta^{*2} \ell^2$
 $= 2^{n-k-1} \beta^* \alpha^* \ell a (2^k - 1) + 2^{m-1} \alpha^* \beta^* a \ell (1 - 2^k)$
 $= 2^{n-k-1} \beta^* \alpha^* \ell a M_k - 2^{m-1} \alpha^* \beta^* a \ell M_k$

Theorem 13

For any positive integer n ,

- i. $GMH_n + GMLH_n = 2^n \alpha^* a$
- ii. $GMH_n - GMLH_n = -2\beta^* b$

Proof

- i.
$$GMH_n + GMLH_n = 2^{n-1} \alpha^* a - \beta^* b + 2^{n-1} \alpha^* a + \beta^* b$$

$$= 2(2^{n-1} \alpha^* a)$$

$$= 2^n \alpha^* a$$
- ii.
$$GMH_n - GMLH_n = 2^{n-1} \alpha^* a - \beta^* b - 2^{n-1} \alpha^* a - \beta^* b$$

$$= -2\beta^* b$$

Theorem 14 (Catalan Identity for Hybrid Gaussian Mersenne and Gaussian Mersenne-Lucas Sequences)

For any positive integers n, k we have

$$GMH_{n+k}GMH_{n-k} - GMH_n^2 = 2^{n-k-1}M_k[\beta^* \alpha^* b a - 2^k \alpha^* \beta^* a b]$$

$$GMLH_{n+k}GMLH_{n-k} - GMLH_n^2 = 2^{n-k-1}M_k[2^k \alpha^* \beta^* a b - \beta^* \alpha^* b a]$$

Proof

$$GMH_{n+k}GMH_{n-k} - GMH_n^2$$

$$= (2^{n+k-1} \alpha^* a - \beta^* b)(2^{n-k-1} \alpha^* a - \beta^* b) - (2^{n-1} \alpha^* a - \beta^* b)(2^{n-1} \alpha^* a - \beta^* b)$$

$$= 2^{n-k-1} \beta^* \alpha^* b a (2^k - 1) - 2^{n-1} \alpha^* \beta^* a b (2^k - 1)$$

$$= 2^{n-k-1} M_k [\beta^* \alpha^* b a - 2^k \alpha^* \beta^* a b]$$

$$GMLH_{n+k}GMLH_{n-k} - GMLH_n^2$$

$$= (2^{n+k-1} \alpha^* a + \beta^* b)(2^{n-k-1} \alpha^* a + \beta^* b) - (2^{n-1} \alpha^* a + \beta^* b)(2^{n-1} \alpha^* a + \beta^* b)$$

$$= -2^{n-k-1} \beta^* \alpha^* b a (2^k - 1) + 2^{n-1} \alpha^* \beta^* a b (2^k - 1)$$

$$= 2^{n-k-1} M_k [2^k \alpha^* \beta^* a b - \beta^* \alpha^* b a]$$

Theorem 15 (Cassini Identity for Hybrid Gaussian Mersenne and Gaussian Mersenne-Lucas Sequences)

For any positive integer n , we have

$$GMH_{n+1}GMH_{n-1} - GMH_n^2 = 2^{n-2}[\beta^* \alpha^* b a - 2\alpha^* \beta^* a b]$$

$$GMLH_{n+1}GMLH_{n-1} - GMLH_n^2 = 2^{n-2}[2\alpha^* \beta^* a b - \beta^* \alpha^* b a]$$

Theorem 16 (d'Ocagne's Identity for Hybrid Gaussian Mersenne and Gaussian Mersenne-Lucas Sequences)

For any positive integers n, m we have

$$GMH_m GMH_{n+1} - GMH_{m+1} GMH_n = 2^{m-1} \alpha^* \beta^* a b - 2^{n-1} \beta^* \alpha^* b a$$

$$GMLH_m GMLH_{n+1} - GMLH_{m+1} GMLH_n = 2^{n-1} \beta^* \alpha^* b a - 2^{m-1} \alpha^* \beta^* a b$$

Proof

$$GMH_m GMH_{n+1} - GMH_{m+1} GMH_n$$

$$= (2^{m-1} \alpha^* a - \beta^* b)(2^n \alpha^* a - \beta^* b) - (2^m \alpha^* a - \beta^* b)(2^{n-1} \alpha^* a - \beta^* b)$$

$$= 2^{n-1} \beta^* \alpha^* b a (1 - 2) + 2^{m-1} \alpha^* \beta^* a b (2 - 1)$$

$$= 2^{m-1} \alpha^* \beta^* a b - 2^{n-1} \beta^* \alpha^* b a$$

$$GMLH_m GMLH_{n+1} - GMLH_{m+1} GMLH_n$$

$$\begin{aligned}
 &= (2^{m-1}\alpha^*a + \beta^*\ell)(2^n\alpha^*a + \beta^*\ell) - (2^m\alpha^*a + \beta^*\ell)(2^{n-1}\alpha^*a + \beta^*\ell) \\
 &= 2^{n-1}\beta^*\alpha^*\ell a(2-1) - 2^{m-1}\alpha^*\beta^*a\ell(2-1) \\
 &= 2^{n-1}\beta^*\alpha^*\ell a - 2^{m-1}\alpha^*\beta^*a\ell
 \end{aligned}$$

Theorem 17 (Honsberger Identity for Hybrid Gaussian Mersenne and Gaussian Mersenne-Lucas Sequences)

For any positive integers k, n we have

$$\begin{aligned}
 GMH_{k-1}GMH_n + GMH_kGMH_{n+1} &= 2^{k+n-3}\alpha^{*2}a^2ML_2 - 2^{k-2}\alpha^*\beta^*a\ell ML_1 - 2^{n-1}\beta^*\alpha^*\ell aML_1 + 2\beta^{*2}\ell^2 \\
 GMLH_{k-1}GMLH_n + GMLH_kGMLH_{n+1} &= 2^{k+n-3}\alpha^{*2}a^2ML_2 + 2^{k-2}\alpha^*\beta^*a\ell ML_1 + 2^{n-1}\beta^*\alpha^*\ell aML_1 + 2\beta^{*2}\ell^2
 \end{aligned}$$

Proof

$$\begin{aligned}
 &GMH_{k-1}GMH_n + GMH_kGMH_{n+1} \\
 &= (2^{k-2}\alpha^*a - \beta^*\ell)(2^{n-1}\alpha^*a - \beta^*\ell) + (2^{k-1}\alpha^*a - \beta^*\ell)(2^n\alpha^*a - \beta^*\ell) \\
 &= 2^{k+n-3}\alpha^{*2}a^2(2^2 + 1) - 2^{n-1}\beta^*\alpha^*\ell a(2 + 1) - 2^{k-2}\alpha^*\beta^*a\ell(2 + 1) + 2\beta^{*2}\ell^2 \\
 &= 2^{k+n-3}\alpha^{*2}a^2ML_2 - 2^{k-2}\alpha^*\beta^*a\ell ML_1 - 2^{n-1}\beta^*\alpha^*\ell aML_1 + 2\beta^{*2}\ell^2 \\
 &GMLH_{k-1}GMLH_n + GMLH_kGMLH_{n+1} \\
 &= (2^{k-2}\alpha^*a + \beta^*\ell)(2^{n-1}\alpha^*a + \beta^*\ell) + (2^{k-1}\alpha^*a + \beta^*\ell)(2^n\alpha^*a + \beta^*\ell) \\
 &= 2^{k+n-3}\alpha^{*2}a^2(2^2 + 1) + 2^{n-1}\beta^*\alpha^*\ell a(2 + 1) + 2^{k-2}\alpha^*\beta^*a\ell(2 + 1) + 2\beta^{*2}\ell^2 \\
 &= 2^{k+n-3}\alpha^{*2}a^2ML_2 + 2^{k-2}\alpha^*\beta^*a\ell ML_1 + 2^{n-1}\beta^*\alpha^*\ell aML_1 + 2\beta^{*2}\ell^2
 \end{aligned}$$

Conclusion

In this paper, we defined new sequences named by Hybrid Gaussian Mersenne and Hybrid Gaussian Mersenne-Lucas sequences. Further, we obtained some relations among them. Moreover, we verified some identities through Binet's formula.

References

- [1] Berzsenyi G, Gaussian Fibonacci numbers, The Fibonacci Quarterly, Vol. 15, No. 2, pp. 233-236, 1997.
- [2] Jordan J. H, Gaussian Fibonacci and Lucas numbers, The Fibonacci Quarterly, Vol. 3, PP. 315-318, 1965.
- [3] Koshy T and Gao Z, Catalan Numbers with Mersenne subscripts, Math. Scientist, Vol. 38, No. 2, pp. 86-91, 2013.
- [4] Malini Devi B, Devibala S, A View on the Mersenne and Mersenne-Lucas Numbers, GIS Science Journal, Vol. 8, Issue 8, pp. 784-789, 2021.
- [5] Malini Devi B, Devibala S, Some Sums Formulae for Products of terms of Mersenne and Mersenne-Lucas Numbers, Adalya Journal, Vol. 10, Issue 8, pp. 74-79, 2021.
- [6] Ozdemir. M, Introduction to Hybrid Numbers, Adv. Appl. Clifford Algebras, Vol. 28, No. 11, 2018.
- [7] Pethe S, Horadam A. F, Generalized Gaussian Fibonacci Numbers, Bull. Austral. Math. Soc., Vol. 33, No. 1, pp. 37-48, 1986.
- [8] Taras Goy, On new identities for Mersenne numbers, Appl. Math. E-Notes, Vol. 18, pp. 100-105, 2018.